
tyaf;fy;tp mYtyfk; - tTdpah njw;F 

khjhe;jg;ghPl;ir [g;grp – 2018 
juk; -06          fzpjk;       Neuk;:40epkplk; 

            gFjp -I  
vy;yh tpdhf;fSf;Fk; tpil vOJf. 

01 nrt;tfnkhd;wpd; ePsk; 8cm mfyk; 4cm vdpd; ePsk; mfyj;jpw;F ,ilapyhd tpfpjj;ij 
vOJf. 
 
 

02 ,ilntspia epug;Gf 
               
 
 

03 vspa tbtpy; 9 : 15 [ jUf? 
 
 

04 thfdk; xd;W 2 kzpj;jpahyq;fspy; 80km J}uk; nry;Yk; vdpd; 4 kzpj;jpahyq;fspy; 
nry;Yk; J}uk; ahJ? 
 
 

05      ,t; cU 8 [ Fwpf;fpd;wJ vdpd;       ,ij Fwpf;Fk; vz;zpf;if ahJ? 
 
 
 

06 
 
 
 
 

,ilntsp epug;Gf. 
 
 
 

vz;zpf;if tuTf;Fwp 

    7  
  

07 4kg 500g  [ fpuhkpy; jUf? 
 
 

08     MFk; NghJ       ,d; ngWkhdk; ahJ? 
 
 
 

09 ehs; xd;wpy; je;ijapd; rk;gsk; & 750 ck; jhapd; rk;gsk; &   vdpd; ,UthpdJk; nkhj;j 
rk;gsj;ij ml;rufzpj Nfhitapy; fhl;Lf. 
 
 

10 jug;gl;Ls;s vz;fspy; 675> 908> 996 ,uz;lhy; kPjpapd;wp tFgLk; vz;fis vOJf. 
 
 
 

        (10x2=20Gs;spfs;) 

      gFjp-II 

01)a)  

I. %d;W gjpide;jpw;F vd;w tpfpjj;ij ,yf;fj;jpy; vOJf. 
 
 

          II. ePh; vOjpa tpfpjj;ij vspa tbtpy; jUf. 
 

 



    b)   

 

         
 
 
 
 

 I. A, B ghj;jpuq;fspy; cs;s ePhpd; msit tpfpjj;jpy; vOJf? 

 

 II. A     ghj;jpuj;jpy; B [ tpl vt;tsT ePh; Nkyjpfkhf cs;sJ?    
 

 

 (2+2+3+3=10Gs;spfs;) 
 

 

02) juk; 6 tFg;gpy; cs;s khzth;fs; tUk; thfdk; gw;wpa tpguk; gpd;tUkhW. 
 
 
 
 
 
 

       1. ml;ltizapy; cs;s ,ilntspia epug;Gf? 

       2.  $Ljyhd    khzth;fs; tUk; thfdk;  ahJ? 

       3. rk vz;zpf;ifahd khzth;fs; vt;thfdq;fspy; tUif jUfpd;wdh;?                                                                                                   

                                                                                                         (6+2+2Gs;spfs;) 

 

03)     juk; 6 ,y; cs;s 3 gphpTfspd; khzth;fspd; tpguk; gltiuG %yk; jug;gl;Ls;sJ. 

juk;  

6A  

6B  

6C  

 vd;gJ 4[ Fwpf;fpd;wJ 

  1. 6A  gphptpy; cs;s khzth;fspd; vz;zpf;ifia fhz;f? 

  2. 6B gphptpy; cs;s khzth;fspd; vz;zpf;ifia fhz;f? 

  3. 6C gphptpy; cs;s khzth;fspd; vz;zpf;ifia fhz;f? 

  4. $Ljyhd khzth;fs; cs;s gphpT vJ? 

  5. nkhj;j khzth;fspd; vz;zpf;if ahJ? 

           (2 5=10Gs;spfs;) 

thfdtif tuTf;Fwp vz;zpf;if 
fhh;  5 
ce;JUsp ………. 15 
<UUsp  ……… 
thd; ………. 5 

9l 
5l 

A B 



 

 


